2020 FEFERYH BEMET v 7 — b o FE R R EIc o w T

1. SEf- 5B
2020 SEFERICHFEI N TV 2 EEE D 5 AU LD R TORERH,
(7z72 L. I CBEEDPEM T N 2 FERIE. AR - FEIEITIEE
REMNREEIFERS TR WRE, FEEHF2 5 1330w 3 Erihakg
ORE. BEETERHE %2R )

FEhEHAR 20204 7H 16 H OKk) ~ 202047 H 31 H (&)

EigiE ¢ Webilksd~—72Fz2v 7R
HEEE 0 2 - R o BREH
ESZSSE 1,1408H (37,781%)
[]25 550 : 14,136% (37.4%)

2. 5 EFSRFE D VIgfHEIC X 2 R
(BEREEHORIE % 5 B b L, 2o FEfizEHL Tw3)
CEZ S - 5 cZ IS4 b LDV 3
2O Bbve e 25 cF oK 5B 15



(2RI X B BERTI ] — a0 X B SERHR R

EMmEA ’}HZF AT x F‘f% ﬁﬁ% k?ﬁi %@ﬁﬁ A
2020 % 20204 2020 % 20204 2020 % 20204 20204 20204
i‘ff@"iiillyﬁ’mﬁﬁ}&f;%‘:ﬁébﬁg 3.71 3. 65 3.77 3.73 3. 67 4.13 4.11 0.00
?;ff%iﬁmﬁﬁkEigﬁmwmzﬁﬁéﬂf 3.95 3.92 4. 04 3.93 3.95 4. 46 3.89 0.00
7. BE ORI T DO T2 LR T, 4.13 4.13 4. 17 4.11 4.10 4.61 4.22 0. 00
8. HEOBMITIONLFh 0T, 3.95 3.90 3.98 3.90 4.00 4.59 4.22 0. 00
%ﬁﬁiﬁf?ﬁ%:g;&iiﬂi?fg PC. AV 4.00 3.94 4.01 3.99 4.00 4. 49 4.11 0.00
10. FEIFERRE S ITE IS LTV, 3.95 3.92 3.95 3.92 3.96 4. 64 3.89 0. 00
;ﬁgiﬁﬁii*%%T@E‘ﬁm’%ﬁﬁ%tﬂéﬁuﬁg% 3.95 3.91 3.95 3.94 3.96 4.63 4.00 0. 00
1:)2 BT RIE) S/ TR GBI B b T 4.26 4. 27 4. 27 4.25 4.25 4.55 4.33 0.00
:g%%%ﬁ;fju VAECCBRED RO HIRTE 4.06 4.06 4.03 4.03 4.09 4.63 4.33 0.00
{1&4@zggﬁﬁggfg‘k¥2§f§@ FOROMLF 4. 04 4.10 4.00 4.00 4.07 4.64 4. 44 0. 00
15. MAERNTHIETL T, MR D TEHRFETHT, 4. 06 4.03 4.05 4.02 4. 11 4. 67 4.22 0.00

SEXFEETE D EHE (PEFR AL 55EET) /2020F

5.00
-—

4.50

400 —— = ‘MW

3.50

3.00

2.50

2.00

1.50

1.00 - - . : : - - - s - :
SRR %6 kM7 ks KMo F®/RI10 E&RE11 ERRE12  RR913 RR§14 E&’RH1s
== A [E12020% == 2020%F == [E|[FF2020%F =0—{KE2020%&
—— KE[72020F FD1th2020F BA2020%F

* 2 Ol FHE S, A
R RO [ 7 L




[T X BRI ) — PR X 2 MR R
TR BN 14 24 34 A4 Z O A
Sl 20204 20207 20207 20207 20207 20207 20204
5. BEIXFAEILS T ARAEERL TS BICTDIOBEL 5 71 5 56 5 79 5 84 5 85 017 0. 00
ey ) ) ) ) . . .
6. BB SLRROFE 72 LB LSRRI RS LT 5 05 5 04 5 99 100 103 1 26 0. 00
ey ) ) ) ) . . .
7. BB OREITTHHEMCEAR I H 7R LU, 4.13 4.10 4,11 4.18 4.20 4.29 0. 00
8. HA DMLV T ot 3.95 3.97 3.90 3.96 3.98 4,31 0. 00
9. Bkt - 25 H (R E, BB AFAK, PC, AVEE
R e e 4. 00 3.97 3.98 4.07 4.01 4.31 0. 00
10. ZIEITERS0% S 1T@EuNTx LTz, 3.95 3.94 3.92 3.98 4.00 4.24 0.00
1. BEIRETOBEFRBREME-NAINCEEL 3. 95 5 08 . 5 96 5 08 195 0. 00
o CU- ) ) ) ) . . .
12, F2EITF M@ E- T ERIEGEVIZB 2 bt T 4 26 4 95 4 24 430 1 26 4 38 0,00
s ) ) ) ) . . .
13.\&%&§fomu VATHSCEREN S S L, MEE RS 4. 06 4. 03 405 410 i 12 433 0. 00
Bl LN Fo72,
14. 5% OSBS0W G E O ETE kD FR Y
DA T A Bt 4,04 4,02 4,04 4,08 4,08 4,38 0. 00
15. MAEHNTHIEIL T, W20 TEHHETHoT-, 4,06 4,07 4,02 4,09 4,07 4,17 0. 00
=0 [ [ - =
SERFEEEE D EYE (FEFZFERIZKSHEET) /2020F
5.00
4.50
./.7
4.00
3.50
3.00
2.50
2.00
1.50
1.00 . : : : : : : : . . . )
%[5 kM6  EXM7  kfE8 kM9  EkM10  &ME11 ERRH12  ERRE13 ERRH14 ERREH1S
== 1E2020F =h=2%2020F =>=342020F —=H=442020F —0—FND{h2020%F BA2020%

* Z Oft- - - FLHSFEE R, EHE YA
* AN e e PSR DO RIE 7R L




[T X R ERTHIN ] —RHH X0 X 2 TG R
- WAEHE | AW - HAY - HFM | EEE-HM [ KF M B KB
o = H
FLRDARA BIR20208) Toog0% | 2020%& | z020% | 2020% | 2020% | 2020% | 2020%
?‘égﬁf?@ww“ﬁﬁgmggﬁﬁ%"’to 5.71 3.53 3.75 3.88 3.80 3.70 3.81 4.15
S kD S 253 A=y N T
%(fjcmmﬁﬁw%aﬁ{ﬁ LS CRR 3.95 3.86 3.99 4. 04 3.97 3.95 4.03 4.55
7; BEOESITHT M CREE ALK 4.13 4. 04 4.18 4.18 4.15 4.10 4.18 4.69
8. HEDOHMAIT LDV oT, 3.95 3.85 3.98 3.99 3.92 4.03 3.99 4.67
9. bt - FE (BRLE . BGE, BB AFAR, PC,
AVEEREZR 1) 1 0 B S A oL o 4.00 3.90 3.99 3.98 4.04 4.00 4.10 4.58
10. FEFEMOHR S ITEENIIHEL Tz, 3.95 3.81 4.02 4.01 3.98 3.97 3.97 4.71
ﬂ' BETETO RIFRBRBIARI NS RITTE 3.95 3.86 3.95 3.98 3.99 3.97 3.96 4.70
BAth o TV,
%’ E“%mﬁwoit%t@ﬁﬁm:%yﬁbﬂ 4.26 4. 24 4.29 4.23 4.25 4. 24 4.29 4.62
13. 252 THILWERRCEEN G S, R
R R T 4.06 3.94 4.12 4.07 4.07 4.10 4.16 4.71
14. BB OFECHIGee 8 DA ROt HE
P O A T = A A e Gy 4. 04 3.91 4.17 3.96 4.05 4.08 4.18 4.72
15. MG RIHIBILC, iR D CTELRIETH oI, 4.06 3.97 4.07 4.05 4.05 4.12 4.10 4.73

SEXFEREE D F1{E (Rl B R4 IC K H5KET) /2020%F

5.00

4.50

4.00

3.50

3.00

2.50

2.00

1.50

1.00 : : :

M5 EkfHe  Exf7

—— A5 - E92020%

Bt

Biih[e)

E1&2020F

sZR10
=R EHET2020%F == A[E-EF92020F ==X -EF92020F
REFE2020F

E%fE11

ERf12

%13

s&fE14
=0—E[&-EF92020%

E% 815




